Efficiency vs P,

= 0.4
o

2 0.09
>

20.08
9]

0.07
0.06
0.05
0.04
0.03
0.02
0.01

0
1

e

Ratio

0.5F

107 1 10 ‘?‘sz_r (Ge\})OS

—=— DQM_CKF_T1bar
—e— DOQM_mkFit_TTbar

—— DQM_mkFit_TTbarPU-ncp
—— DOM_mkFit_TTbarPU-newTr4

=0.05

o B
V1 SIEE RIS e —
g F . . ' : .
(]_)004:_ """ E'"------E -------- E.. - .,E ________ :_ _______
o F : : : : :
Y0 iclc| RURURNEY (SR B £
[3) E : : :
0.08F oo 3 I A
0.025F -+ {f---- L]
0.02F [k ¥4 -
E : ] 3
0.015F |-~ {4l |-
0.01 -+ 1
0.005F -] fuths)
o O:....E........!.l. :
g £t
0.5[-<---- IHET
3= =1 0

Efficiency vs @

o-0.05
[
Q.045
8
90-04
(&)
).035
(]
0.03]
0.025
0.02

..............................................

vt EEUEE EEEEE LR LREEE RRREN ERREE R




	Contents
	Page 1


